C
[0
rat
ra
ojn
1o
El
1>
rn
e
<

2205 (E) 28H06%(=hH 12207 (F) 2E08Y(F) 2809 (T)
. Xk d} . Xk H}b
H-d -Q—I‘Tﬂ' ) ) E_—T:_té" Hd
- O|2EE= 56,13 - HE - 2107|0/9= 5,6,13,16
) BRI 56,13 f=d 0123 5613 1nIs=
= H 2| /4 5,6,13,15,16 PHE7| 561315 - REEE= 5613 SAENA/AA 56101213 | 7ol 2,5,6,10,12,16,18
- H|AILIOFXH &S -D7|03|'-T'—0 (221 15613 - M=% 56,910,13,18 ;;’;lmxl s13 610,12, AFE 10|/ AEFE
5,6,9,10,13,15,16,18 ) 74;;H; 5613 - 0% 56,10,16,18 ;LoT|7|T5 1,2,5,6,10,15,16,18
- 20| 7S i T SUHERE 5 o - X|AHE| SRR 5613
= 7] - H{==Z X[ 9,13 = Hi== 2 K] 9,13 =
Hi==ZX| 9,13 = - =4 X 9,13 Hi =4 X[ 9,13
cHHEQJEE D -2 2
.2 =22 1456
0jl L4 X| (kcal) 707.04 Of| L X (kcal) 709.79 Of| A K| (kcal) 700.17 Of| .4 X| (kcal) 709.67 0il .9 X] (kcal) 700.35
o |EE(g) 80.99 =2 (g) 79.30 S&(g) 77.16 =& (g) 93.25 =% (g) 90.06
CHEl(g) 20.35 CHHEl(g) 29.64 CHaH Al (g) 29.48 CHEl(g) 18.46 CHEHEl(g) 26.62
X|&(g) 33.51 X E(g) 29.91 X|Z(g) 30.56 X E(g) 27.13 X|E(g) 16.91
HIErEIA(R E) 66.87 H|EFRIA(R.E) 319.04 H|EFRIAR.E) 147.41 H|EFRIA(R.E) 260.43 H|EFRIA(R.E) 573.83
E|Ot2l(mg) 2.33 E|Ot2l(mg) 2.28 E[O}2I(mg) 0.67 E|Ot2l(mg) 0.51 E[O}2I(mg) 1.03
EIEEEFE' (mg) 0.13 2|2 Z2t (mg) 1.00 2|2 Z 2t (mg) 0.31 2|2 Z2t8(mg) 0.25 2| 2 2t (mg) 0.80
H|Et2IC(mg) 53.26 H|EF2IC(mg) 16.14 HIEF2IC(mg) 27.62 H|Et2IC(mg) 23.66 HIEFRIC(mg) 27.41
T |Z#&(mg) 217.82 Zt#(mg) 177.52 Z+&(mg) 157.81 ZH&(mg) 201.02 Z-&(mg) 181.04
HE(mg)2.95 HE(mg) 6.85 HE(mg) 5.13 HEZ(mg) 5.55 HE(mg) 6.31
S AT AR ~F oo et 2HEPE = ASLIC
v AEU2|EE @ v HALUXERE ¢
AMSTIA - FLj4t
AX|HYZ) - AL/ AR IEHR) - LA
(MEF @27 HE WES GOUF ©)2F ()28 @) i} l(EHH; )ﬂ;ﬁ H;#LH/ At 15: 7| :)Lﬂi H
QML (10X 27| (11)250} (12)EOHE (13)0HaHAHR oF M Rt A A
R x| 5 Btts UM/ H 53Ut/ 2|27 ILfL
(142 F (15527] (16)227] 17)2F X R
18 ZNFE AL, 2= (193 DNXRILE U A/E=4
e s R0, 150, oKl UL/ HX|, FA . B
3, FEF A=h@=, ALt 2F §)/ LU= T




